ck to the ‘The
' ght in temt, as a function of time, ¢, in s

b) Why is the graph only in quadrant | ?
ke Hwe o \\Ql‘s\'\"

¢) Find the: domain:éé ] 05 , + 6-)2;
range: 2 hit) [0 élf‘\({’)éq,é\g)}

l’\er ['l71 /NF“"‘Prs)

d) State the initial height of the angry bird. _0 m

e) Where on the graph would you find the (0,0)
maximum height? \Jertey (34 )

e X
) | time (erpads) y
f) What is the maximum height? _ 7 _aeters +

g) At what time does the bird reach its maximum height? A fﬁec’ov&s
h) Where on the graph does the angry bird hit the ground? O M eters ( é ) O)
i) At what time(s) does the angry bird hit the ground? (; H€.(d nd S

k) How high is the angry bird off the ground after 1 second?
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